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| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes l
| each sentence. Then mark the correct choice on your answer sheet. |

1- The geology student made a surprising discovery; the volcano believed to be ......... was
about to erupt.
1) dormant 2) temporary 3) affable 4) vulnerable
2- We waited for the storm to ........... before we left.
1) abase 2) abide 3) abridge 4) abate
3- The minister desired the position simply for the .......... associated with it.
1) scope 2) status 3) origin 4) feature
4- The........... researcher made sure to check her measurements multiple times.
1} initial 2) vague 3) diligent 4) apposite
5- Denver’s impractical plan to build a subway system was .......... in 1970s,
1) surmised 2 scrapped 3) strived 4) scattered
6-  .ievevesse.. Such as hair color and eye color are inherited genetically from one’s parents,
1) Traits 2) Dimensions 3) Omens 4) Enigmas
7- The company has ........... 31000 to the team to get the projeet started.
1) ascribed 2) bestowed 3) deposited 4) allocated
8-  After a week the jury had still not reached a ............ -
1) status quo 2) sequence 3) verdict 4) suspect
9-  Heavy rains had ......... . the expedition’s progress through the north-west of the country.
1) abandoned 2 hindered 3) evaded 4) distressed
10- The rattlesnake is the most ............. snake in the Untied States.
1) venomous 2) zealous 3) haphazard 4) ancestral

| PART B: Cloze Test

| Directions: Read the following passage and decide which choice (1), (2), (3), or |
| (4 best tsacb space. T]'ln the choice on your ans rsee

The ancient Romans bualt an extensive and (11) ......... to serve thelr needs. The Roman road-
building era began in 312 BC. The roads provided economic and military access from Rome to
distant parts of its far-flung empire. The first road (12) .......... the Appian Way, which led,
from Rome to Brundisium (now Brindisi), a port (13) ......... is now southern Italy. The
Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road,
from Rome to Maples, provided the first stage of the route (14) .......... by troops headed to
Africa. Roman advances in road-building techniques included preparation of foundation soils
and base courses, brick paving , and, (15) .........., provision for adequate drainage.

11- 1) reads of durable system 2) system of durable roads
3) durable system of roads 4} durable road of systems

12- 1) was constructed ) was 10 construct
3) that was constructed 4) constructed was

13- 1) in which it 2) in what 3) where is 4) which it is

14- 1) used 2) using 3} be used 4) was used

15- 1) the more important 2) most important
3) the most important 4) most importantly
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: Reading t}nsinn

Directions: Read the following three passages and choose the best choice (1), (2),
Then mark it on your answer sheet.

PASSAEG 1:

Ethics is traditionally a department of philosophy, and that is my reason for discussing

it. I hardly think myself that it ought to be included in the domain of philosophy, but to prove
this would take as long as to discuss the subject itself, and would be less interesting,
As a provisional definition, we may take ethics to consist of general principles which help to
determine rules of conduct. It is not the business of ethics to say how a person should act in
such and such specific circumstances; that is the province of casuistry. The word "casuistry' has
acquired bad connotations, as a result of the Protestant and Jansenist attacks on the Jesuits. But
in its old and proper sense it represents a perfectly legitimate study. Take, say, the question: In
what circumstances is it right to tell a lie? Some people, unthinkingly, would say: Never! But
this answer cannot be seriously defended. Everybody admits that you should lie if yvou meet a
homicidal maniac pursuing a man with a view to murdering him, and he asks you whether the
man has passed your way. It is admitted that lying is a legitimate branch of the art of warfare;
also that priests may lie to guard the secrets of the confessional, and doctors to protect the
professional confidences of their patients. All such questions belong to casuistry in the old
sense, and it is evident that they are questions deserving to be asked and answered. But they do
not belong to ethics in the sense in which this study has been included in philosophy.

It is not the business of ethics to arrive at actual rules of conduct, such as: 'Thou shalt
not steal.’ This is the province of morals. Ethics is expected to provide a basis from which such
rules can be deduced. The rules of morals differ according to the age, the race, and the creed of
the community concerned, to an extent that is hardly realized by those who have neither
travelled nor studied anthropology. Even within a homogeneous community differences of
opinion arise. Should a man kill his wife's lover? The Church says no, the law says no, and
comimon sense says no; yet many people would say ves, and juries often refuse to condemn.
These doubtful cases arise when a moral rule is in process of changing. But ethics is concerned
with something more general than moral rules, and less subject to change. It is true that, in a
given community, an ethic which does not lead to the moral rules accepted by that community
15 considered immoral. It does not, of course, follow that such an ethic 1s in fact false since the
moral rules of that community may be undesirable. Some tribes of head-hunters hold that no
man should marry until he can bring to the wedding the head of an enemy slain by himself.
Those who question this moral rule are held to be encouraging licence and lowering the
standard of manliness. Nevertheless, we should not demand of an ethic that it should justify the
moral rules of head-hunters.

It is implied by the author that ethics
1) is boring and time consuming

2) is a traditional subject in philosphy
3} is a domain of philosophy which repures provisions

4} is not considered as a subject to be studied by modern philosophers
The definition which is given for ethics in paragraph 2 is
1) a religious definition

2) a definition which is likely to change

3) an exclusive definition which is not philosophical

4) a general definition which relies on rules of conduct
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What is the authors opinion about casuistry?

1) It illogically favors telling lies.

2) It deals with rules of conduet.

3) Its modern meaning provides a better definition for the word.

4) 1t is a business word which has acquired philosophical connotation
According to the reading,moral rules -

1) are sometimes racist rules

2) result in different opinions about ethics

3) are derived from the bases ethics provides

4) are determined by gender and age of the community

The word "slain" in the last paragraph is closest in meaning to --————-—-,
1) chosen 2) captured 3) killed 4) preffered

PASSAEG 2:

Like his teacher Plato, Aristotle’s philosophy aims at the universal. Aristotle, however,
found the universal in particular things, which he called the essence of things, while Plato finds
that the universal exists apart from particular things, and is related to them as
their prototype or exemplar. For Aristotle, therefore, philosophic method implies the ascent
from the study of particular phenomena to the knowledge of essences, while for Plato
philosophic method means the descent from a knowledge of universal Forms (or ideas) to a
contemplation of particular imitations of these. For Aristotle, "form" still refers to the
unconditional basis of phenomena but is "instantiated” in a particular substance. In a certain
sense, Aristotle's method is both inductive and deductive, while Plato's is essentially deductive
from a priori principles.

In Aristotle's terminology, "natural philosophy” is a branch of philosophy examining
the phenomena of the natural world, and includes fields that would be regarded today as
physics, biology and other natural sciences. In modern times, the scope of philosophy has
become limited to more generic or abstract inquiries, such as ethics and metaphysics, in which
logic plays a major role. Today's philosophy tends to exclude empirical study of the natural
world by means of the scientific method. In contrast, Aristotle's philosophical endeavors
encompassed virtually all facets of intellectual inquiry.

In the larger sense of the word, Aristotle makes philosophy coextensive with reasoning,
which he also would describe as "science". Note, however, that his use of the
term science carries a different meaning than that covered by the term "scientific method”. For
Aristotle, "all science (dianpia) is either practical, poetical or theoretical”. By practical science,
he means ethics and politics; by poetical science, he means the study of poetry and the other
fine arts; by theoretical science, he means physics, mathematics and metaphysics.

If logic (or "analytics") is regarded as a study preliminary to philosophy, the divisions of
Aristotelian philosophy would consist of: (1) Logic; (2) Theoretical Philosophy, including
Metaphysics, Physics and Mathematics; (3) Practical Philosophy and (4) Poetical Philosophy.

The first paragraph mainly concentrates on ------===----,

1) a contrast of Aristotle and Plato's philosophies

2y a comparison of Aristotle and Plato's philosophic procedures

3) an analysis of the differences and commonalities between Aristotle and Plato
4) definition of philosophic method from Aristotle's point of view



22-

23-

24-

25-

. . e
s 503E R rsE O

According to the reading,which of the following statements can be true?

1) In the past philosophy was a broader discipline.

2) Natural philosophy used to be more logic-oriented.

3) In modern times.the scope of natural philosophy has become more limitted to non-concrete
subjects.

4) Natural philosophy is a modern concept which concentrates more on phenomena of the
natural world.

The word "encompassed" in paragraph 2 is closesi in meaning to

1) eliminated 2) ignored 3) covered 4) probed

It can be understood from the reading that ------------ :

1) to Aristotle philosophy is not exactly the same as modern seience we know today

2) Aristotle is not interested in empirical study of natural world

3) to Aristotle philosophy is broader than science

4) Aristotle divides philosophy into three categories of practical poetical and theoretical

According to the reading,in the classification of Aristotlian philosophy priority is given to

1} abstract inquiries  2) ethics 3) logic 4) science

PASSAEG 3:

For most thinkers since the Greek philosophers, it was self-evident that there is
something called human nature, something that constitutes the essence of man. There were
various views about what constitutes it, but there was agreement that such an essence exists—
that is to say, that there is something by virtue of which man is man. Thus man was defined as
a rational being, as a social animal, an animal that can make tools, or a symbol-making animal.

More recently, this traditional view has begun to be questioned. One reason for this
change was the increasing emphasis given to the historical approach to man. An examination
of the history of humanity suggested that man in our epoch is so different from man in previous
times that it seemed unrealistic to assume that men in every age have had in common
something that can be called “human nature.” The historical approach was reinforced,
particularly in the United States, by studies in the field of cultural anthropology. The study of
primitive peoples has discovered such a diversity of customs, values, feelings, and thoughts
that many anthropologists arrived at the concept that man is born as a blank sheet of paper on
which each culture writes its text. Another factor contributing to the tendency to deny the
assumption of a fixed human nature was that the concept has so often been abused as a shield
behind which the most inhuman acts are committed. In the name of human nature, for example,
Aristotle and most thinkers up to the eighteenth century defended slavery. Or in order to prove
the rationality and necessity of the capitalist form of society, scholars have tried to make a case
for acquisitiveness, compefitiveness, and selfishness as innate human characteristics.
Popularly, one refers cynically to “human nature” in accepting the inevitability of such
undesirable human behavior as greed, murder, cheating and lying.

Another reason for skepticism about the concept of human nature probably lies in the
influence of evolutionary thinking. Once man came to be seen as developing in the process of
evolution, the idea of a substance which is contained in his essence seemed untenable. Yet |
believe it is precisely from an evolutionary standpoint that we can expect new insight into the
problem of the nature of man.

MMQNUg)éM)'@Hu)UQhW‘s)b'ue}?T
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The traditional view of “human nature” was strongly challenged by ---------- -

1) the emergence of historical approach to man

2) the emergence of the evolutionary theory

3) the philosophical analysis of slavery

4 new insight into human behavior

According to the passage, anthropologists believe that human beings ----—---—,

1) change their characters as they grow up 2} are born without a fixed nature

3} are born with diverse cultures 4) have some traits in common

The author mentioned Aristotle, a great ancient thinker, in order to -~=—==--- -

1} emphasize that he contributed a lot to defining the concept of “human nature™

2) prove that he had a profound influence on the concept of “human nature™

3) show that the concept of “human nature™ was used to justify social evils

4) support the idea that some human traits are acquired

The word “untenable” in the last paragraph of the passage most probably means --—-—-.
1} changeable 2} invaluable 3) imaginable 4) mdefensible
Most philosophers believed that human nature ------- -

1} consists of competitiveness and selfishness

2) is something partly innate and partly acquired

1) consists of rationality and undesirable behavior

4} is the quality distinguishing man from other animals
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